15
22
0.201 10C5-0.2°-(1-0.2)"°* =0.2013---

0.316 §=,/11=~0.1=0.3162.--

Xa=H 1 ,-01
oos0 px)=HE =21 _0,0004
x!
99.7
491 1109 (80-12x2.576,80 +12 x 2.576)
20.3 =080 _ g3
12
1 1
16 1
0
0
0
20C-0.°-(1-0.)% =0.9% = 0.12157 ---
n

0.9" 0



20
83.6cm 23.2cm? 4.8cm 1.5cm

t(9, 0.05)=2.262
(83.6 - 2.262x1.52,83.6 + 2.262 x1.52) = (80.2, 87.0) cm

Syx = (N1-1)SD? =208.4

S xx S xx 2084 208.4
22(9,0.005)" 72(9,0995)  23.6 ' 1735

) =(8.8,120.1) cm?

28



14
(18.05, 36.04)
36.3g
y =9.227 + 27.045x Yy =9.227 +27.045x1=36.275~ 36.3
1.5mL
50 =9.227 + 27.045x X ~1.508



